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1. The following structures are: 

(1) diastereomers (2) constitution isomers (3) stereoisomers (4) conformations (5) enantiomers 

2. For isopentanol: (1) It is a primary alcohol. (2) It shows a characteristic absorption at 1720 cm·1 in theIR spectrum. 

(3) It has four signals in the broad band decoupled 13C NMR spectrum.~) It is a stereoisomer of pentanol. 

3. What is the IUPAC name of the compound A? 

A 

(1) 3-lodo-2,5-dimethylhexane (2) 4-lodo-2,5-dimethylhexane 

(3) 2,5-Dimethyl-3-iodohexane (4) 2,5-Dimethyl-4-iodohexane 

4. What is the IUPAC name of the compound 8? 

~ 
B 

(1) 2,3-Dimethyl-5-propylheptane (2) 2,3-Dimethyl-5-ethyloctane (3) 5-Ethyl-2,3-dimethyloctane (4) 

5,6-Dimethyl-3-propylheptane ( ~) 4-Ethyl-6,7 -dimethylocta ne 

5. What is the IUPAC name of the compound C? 

c'~ 
~Br 

c 
(1) 3-Bromo-6-chloro-4-methylaniline (2) 5-Bromo-2-chloro-4-methylaniline (3) 2-Chloro-4-methyl-5-bromoaniline 

(4) 2-Bromo-4-amino-5-chlorotoluene (5) 4-Amino-2-bromo-5-chlorotoluene 

6. The IR spectrum of a compound exhibits a broad absorption band at 2500-3200 cm·1 and a sharp band at 1710 

cm·1
• Which of the following compounds could it be? (1) butanoic acid (2) butanol (3) acetic anhydride (4) ethyl 

acetate 

7. What is the IUPAC name of the alkyl group? 

CH2CH2CH2CH3 
I 

-CHCH2CH2CH2CH(CH3)2 
I 
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(1) 1-Butyl-4-methylhexyl (2) 4-Methyl-1-butylhexyl (3) 2-methyldecyl (4) (3-methyl-1-hexyl)-pentyl 

8. Which statements are correct for the reaction shown below? 

Treatment of chlorobenzene with NaNH2 in NH3 gives aniline . 

(1) This reaction is an electrophilic aromatic substitution. 

(2) This reaction is a SN1 Substitution. 

(3) This reaction is a nucleophilic aromatic substitution. 

(4) Benzyne is the reaction intermediate. 

(5) This reaction is a SN2 Substitution. 

... 

9. Which of the dienes can undergo a Diels-Aider reaction? 

(1) (:() (2) o-o (3) 'sX-su (4) Cf (5) Q. 
10. Which reactions below will give a different product for the reaction of trans-2-pentene and cis-2-pentene? (1) 

hydrogenation (2) Br2 addition {3) ozonolysis (4) hydroboration-oxidation 
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1. "() ~OEt 0~ 
HgCI2 

= 
OH 

0 

;(p 2. 1do NaOH(aq) 

0 

OSiMe3 0 

3. ~OMe SnCI4 (}:rOMe ... 
MeO 

CC02Et 
Na cx:H 4. • C02Et 
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H20 
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KOH H 2. HBr 

7. 
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Ph~OMe 
8. H 

9. 
H2 (1 eq) 

Pd/C 

10. 'Cb J )~ NaOH ... .... K 

H H 
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1 eq 

0 OH 
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1. Br2 0 Cr .... N .... 
2. Et3N 


